

Kim J. Chancellor
Kansas City, MO
General Services Administration (GSA)

GSA & AMSA Forum, January 30 - February 1, 2007



Employee Exceeds Maximum Authorization

- Employee is authorized to move 18,000 Lbs.
- Weight Ticket identifies 22,000 Lbs. (example)
- \geq 22,000 18,000 = **4,000 Lbs**. (employee responsible)
 - 4,000 / 22,000 = 18% (charges to employee)
- Agency pays all charges due to TSP
- Agency recoups additional overage amounts from employee



Pre-move Survey *115% Weight Variance Rule

- Pre-move survey indicates 15,000 Lbs. of HHGs.
- Weight Ticket identifies 18,000 Lbs. (example)
- \rightarrow 15,000 x 115% = **17,250** Lbs.
 - TSP must notify agency of 115% overage
 - Agency may waive the penalty if TSP justifies weight differential.
 - TSP does not notify agency of overage
 - Agreed weight for assessing charges will be 115% overage (17,250 Lbs)
 - Copy of pre-move survey should be included with billing

*VA Shipments adhere to 110% weight variance rule.





Increase to Valuation

- Full Value Protection (General Rates) = \$5 / Lb. (\$5 X Weight)
- > FVP Service Charge increase = .85 per \$100
 - Applies to household goods shipment
 - *Identified on Bill of Lading, agency pays recoup from employee
 - Some agencies elect employee to pay charges
- FVP Service Storage Liability Charge = .18 per \$100
 - Applies to shipments going into SIT



Increase to Valuation - Calculation

- > 10,000 Lb Shipment (X \$5) = \$50,000
- Increase total valuation on household goods to \$80,000
 - \$80,000 \$50,000 = \$30,000
 - \$30,000 / \$100 = 300
 - 300 X .85 = \$255 paid by employee
- Storage-in-Transit valuation:
 - 300 X .18 = \$54





International Rates

- > HTOS Section 17
 - SIT Rates
 - Accessorial Rates
 - Other Line Haul Rate Tables





Intl SIT Example: AZ → Belgium, 6000 Lbs.

- > HTOS 17-21, SIT & W/H Charges
 - 30 Days \$2.60 (per CWT)
 - \$2.60 X 60 cwt = \$156
 - W/H \$3.30 (per CWT)
 - \$3.30 X 60 cwt = \$198
- HTOS 17-33, Linehaul Pickup/Delivery for Belgium
 - 4,000 Lbs & Over (per CWT)
 - \$3.10 X 60 cwt = \$186

Location	Overseas Storage for each 30 Days or fraction thereof per cwt (45kg)	Warehouse Handling Charge per cwt. (45kg)
BELIGUM	US \$2.60	US \$3.30

4,000 LBS. AND OVER			
3.10			



International Rates

Move from AZ to Belgium –6,000 Lbs.

TMSS	\$540.00
17-33, P/U - Delivery	\$186.00
17-21, W/H	\$198.00
17-21, 30 Days SIT	\$156.00

SIT Rate	30 Day	60 Day	90 Day
100%	\$540.00	\$696.00	\$852.00
100%	\$540.00	\$696.00	\$852.00
100%	\$540.00	\$696.00	\$852.00
100%	\$540.00	\$696.00	\$852.00
100%	\$540.00	\$696.00	\$852.00
110%	\$594.00	\$765.60	\$937.20
125%	\$675.00	\$870.00	\$1,065.00
100%	\$540.00	\$696.00	\$852.00
100%	\$540.00	\$696.00	\$852.00
100%	\$540.00	\$696.00	\$852.00
100%	\$540.00	\$696.00	\$852.00



Thank You!

Kim.Chancellor@gsa.gov

816-823-3646